NOTES:

- MODELING EXERCISE.
- DO NOT SCALE DRAWING.
- DIMENSIONS ARE IN INCHES UOS.

- MATERIAL: COPPER

- TO INTERSECTION
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DRAWING INTERPRETATION PER ASME Y14.5-2009.

4X 45

- 2X 1.625

2X

1.250 —

2X R .375

2X 2.875

2X

1.000

1.100 —=

2X .700 2X .750 - oY
J J \__
2X .200
2X .400 ==
2X 1.600 —
4X 120
2X .800
4.375 |
4X .750
\\\\\\// INT
4X .250 —f=——
INT 18X R .094 |
2X 1.375 2X -625<J
? | | INT
2X .500 <::
2X 15 \\\\\\\j
__—iiﬁ\
-~ 2X 1.000 ~ 2X 15
2X 2.000
3.150
- 2X
6.300

ISOMETRIC

.250

TOLERANCES

(UNLESS STATED OTHERWISE)
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